
2
1

9
C

at
al

og
ue

 2
0

2
4

S
p

ec
ifi

ch
e 

te
cn

ic
he

 e
 p

ar
ti

 d
i r

ic
am

b
io

/T
ec

hn
ic

al
 c

ha
rt

 a
nd

 s
p

ar
e 

p
ar

ts

02

12

01A*

(*) Non incluso nell’attacco; disponibile come accessorio. / Not included with the stem; available as accessories.

Ricambi/Spare Parts 
Superbox

↓ Art ↓ Deda Part Code ↓ Description ↓ EAN13 Code↓ Material ↓ Finish

11

12

13*

13A*

13B*

13C*

14*

10B

10A

09

08

02

04A

04C

04E

04F

04G

05

06

07*

01

01A*

01B*

03

04B

04D

HDALADCRTC56 ALANERA & SUPERBOX TOP COVER, 56 mm, nylon, for 1.5" upper bearing

HDSBXKIT

HDALADCRS05

SUPERBOX headset spacers kit

ALANERA & SUPERBOX 5 mm SPACER, Nylon

HDSBXTP

HDSBXTP-4DX

HDALADCRS05X

SUPERBOX Topcap, Aluminum w/bolt, M6×30 mm

SUPERBOX Topcap for D-SHAPE fork steerer, 1 1/8" headset, with alloy bolt M6×20mm

ALANERA & SUPERBOX SPACER for Topcap, 5mm, nylon, black

FCSBX-DCR Superbox DCR faceplate, fits the computer mount

SBXCOVER090 SUPERBOX cover, for 90 mm stem, nylon, black

SBXCOVER110 SUPERBOX cover, for 110 mm stem, nylon, black

HDALADCRTC46 ALANERA & SUPERBOX TOP COVER, 46 mm, nylon, for 1" 1-8 upper bearing

HDALADCRS10 ALANERA & SUPERBOX 10 mm SPACER, Nylon

M5X16S SCREW/VITE M5×16 Inox, BLACK, w/washer (SUPERBOX DCR) 

SBXCOVER070 SUPERBOX cover, for 70 & 80mm stem, nylon, black

SBXCOVER100 SUPERBOX cover, for 100 mm stem, nylon, black

SBXCOVER120

SBXCOVER130

SBXCOVER140

SUPERBOX cover, for 120 mm stem, nylon, black

SUPERBOX cover, for 130 mm stem, nylon, black

SUPERBOX cover, for 140 mm stem, nylon, black

M3X20 SCREW/VITE M3X20 CrMo, BLACK, for SUPERBOX cover

HDCOMPRACR

DCLIPBLACKX

COMPRESSION RING for ACR headset, 36°×45°, PA66 Nylon, Grey

D-CLIP for Superzero and Superbox stem, nylon, BLACK

HDALADCRS20 ALANERA & SUPERBOX 20 mm SPACER, Nylon

8052783488355

8055774363624

Nylon

Nylon

Black

Black

8052783488324

8052783489703

8052783488959

Alloy

Alloy

Nylon

Black

Black

Black

8055774362634Alloy Black

8052783488362Nylon Black

8052783488393Nylon Black

8052783486429Nylon Black

8055774362733Stainless Steel Black

8055774362405Nylon Black

8052783488379Nylon Black

8052783488409

8052783488416

8052783489529

Nylon

Nylon

Nylon

Black

Black

Black

8052783486436Nylon Black

8052783486443Nylon Black

8052783486450Nylon Black

8052783486924Nylon Grey

8052783488942Nylon Black

8052783488348Steel Black

01B*

04

07*

08

09

03

05

06

02

SBOXMOUNTKIT

INSERTMOUNT2

INSERTMOUNT3

GOPROSUPPX

SBOXNUT

Superbox computer mount, nylon, black, Garmin, Wahoo, Bryton, GoPro

Garmin/Wahoo Insert for Computer Mount (2 screws)

Bryton Insert for Computer & Seapost Mount (2 screws)

GO PRO support, nylon, incl. 2 pcs M4 screws 

Nut for Superbox computer mount, aluminum, black, incl. M5x10 screw

Nylon

Nylon

Nylon

Nylon

Aluminum

Black

Black

Black

Black

Black

8055774362641

8055774360036

8055774364294

8055774360982

8055774362726

13C*

14*

13*

13A* 13B*
01

10A (56 mm)

10B (46 mm) 11


